Vacuum Pad

TPF
|
) ®2 @200
(¢ 100 )
e Dk B -© :
® 2,035
T: Y: | 20 0 ,5
[Tl o e

2A:0 2 2X4:2X4 3.5A:¢@ 3.5 3.5X7:3.5X7
5A:p5 6A:p6 B8A:pS8 10A:0 10

15:¢ 15 20:¢ 20 25:¢ 25 30:¢ 30

35:¢ 35 40:¢ 40 50:¢ 50 60:¢ 60

e
80:¢ 80 95:¢ 95 100:¢ 100* 120:¢ 120* TPFTK-2A/3.5A TPFYK-2A/3.5A
2X4,3.5X7
150:¢ 150* 200:¢ 200* s [
*(p 100 _ 5 M3 depth 5 5H
: g : Sl s
@ | T o 8 —EE\EEL—LF_F
N: S: u: P - S
F: E: SE: % F%
< >RoHS } )‘ Oy e ’
rTPE(T) k (19 {5) T el s
* R TPFTK-2X4/3.5X7 TPFYK-2X4/3.5X7
¢®5¢06,08

®5 10 M4 6/

O
A B (9)
TPETK-2A 2 23.5 8 B
TPFTK-3.5A 35 23.5 8 < o
TPFTK-2X4 2X4 247 8 |
TPFTK-3.5X7 35X7 | 255 8
TPFTK-5A 5 30.5 11
TPFTK-6A 6 30.5 11
TPFTK-8A 8 31 11
TPFTK-10A 15
TPFTK-15 15 46 20
TPFTK-20 20 48 20
TPEYK-2A 2 20 3
TPFYK-3.5A 35 20 3
TPEYK-2X4 2X4 21.7 3
TPFYK-3.5X7 35X7 | 22.5 3
TPFYK-5A 5 29 16 TPFTK-10A
TPFYK-6A 6 29 16 ¢ 15,0 20
TPFYK-8A 8 29.5 16
TPFYK-10A 16
TPFYK-15 15 30 20
TPFYK-20 20 32 20 6
*2X4 3.5X7 A aXb
* NBR

TPFTK-15/20 TPFYK-15/20

-22 -



O

® 25,0 30,0 35,¢ 40
®5

e

® 60,0 80,0 95

Rel/8 M16XP1.5

21H

M8 11/

M8 depth 11 ¢ 17

3
M6 8/ -
M10XPLS “ " 12 M6 depth 8 K %ﬂ; = Hl 21H
14H N ¥ — M10XP1.25
& o & “ | MM Rel/8/ [~ o
e le E TR e ,—J:L ;;
el & M6 QA 0A
9A QA TPFTK-60/80/95 TPFYK-60/80/95
TPFTK-25/30/35/40 TPFYK-25/30/35/40
¢ 50 O
05 A B (@
q‘ ’@ TPETK-25 25 62 20
MG 8/ TPFTK-30 30 60 40
s < P TPFTK-35 35 62 41
- - TPFTK-40 40 62 43
ol @ e o TPFTK-50 50
M8 Jo ¥ TPFTK-60 60 58.5 130
Ei ol sl e TPFTK-80 80 60.5 170
TPFTK-95 95 61 220
@50 @ 50
TPFTK-50 TPFYK-50 TPFYK-25 25 46 40
TPFYK-30 30 44 42
TPFYK-35 35 46 45
TPFYK-40 40 46 50
TPFYK-50 55
TPFYK-60 60 58.5 120
TPFYK-80 80 60.5 160
TPFYK-95 95 61 210
* NBR
rer- (-
2A:p 2 2X4:2X4 3.5A:@ 3.5 3.5X7:3.5X7 N: S u:
5A:p5 6A:p6 8A:pS8 10A:@ 10 F: E SE:
15:¢ 15 20:¢ 20 25:¢ 25 30:¢ 30
35:¢ 35 40:¢ 40 50:¢ 50 60:¢p 60 @2 10: 2X4,3.5X7:
80:¢ 80 95:¢ 95 100:¢ 100  120:¢p 120 @ 15 50: @60 95:
150:¢ 150 200:¢ 200
O
93 @3 @12
¢ 2 2
o1 BN I
&) ~ s P | i
1.2 1.2 — ©
g jJ %2 gﬁﬂg 3.5 ‘ AN ]
=) ®7.8
TPFG-2A TPFG-3.5A 0152
4 TPFG-10A TPFG-15
92
I%% 046
2 By 1 2
TPFG-2X4 TPFG-3.5X7 2[ o ‘10.8
@ 20
275 975 : ; TPFG-20 TPFG-25
014 921
‘ I E j . - 3
2) N \—‘”—“J T
. 2]
TPFG-5A TPFG-6A TPFG-8A TPFG-30 TPFG-35

-23 -




@27
08
%
— oseess =
@20
@ 50
TPFG-40 TPFG-50
¢ 12.5

M10XP1.25

2.5

23548
o2

QRRK
[SXHHXKRKS
XXX RARERA

.

¢ 125

2.5

M10XP1.25
55

16

® 60

TPFG-60

¢ 125

M10XP1.25

2.5

KKK
poteletelete%e%e%

RoStetetet 0 o et
X XXX XXKXXXX]

18.5

® 93
TPFG-80 TPFG-95
O
M8 4
M5 3
Lo o /]
[ \T/
w0 o | ‘
~ 7 2 98 ”’T 15 2
& 9 T | e
TPF15 TPF50 (M8)
4
M5 M6 9T€
el (0 o (L
i w T
N S
9 2 15 |2
=2 Q <T" © 20
11
TPF20 TPF50 (M)
M6
E .
QT 15 15 3
16.5 o1
1
TPF25 40

- 24 -




Vacuum Pad

TPJ
° o6 o380
o2
[ )
|
(D (19 -()
T Y
6:0 6 8:0 8 10:¢ 10
15:¢ 15 20:¢ 20 30:¢ 30
40:¢ 40 50:¢ 50 60:¢ 60
80:¢p 80
N S: U
F E SE:
< >RoHS
ek -B-O)
* R
|
A B (9)
TPJTK-6 6 33 11
TPJTK-8 8 33 11
TPJTK-10 10 47.5 14
TPJTK-15 15 49 15
TPJTK-20 20 51 17
TPJTK-30 30 66 42
TPJTK-40 40 66 44
TPJTK-50 58
TPJYK-6 6 31.5 16
TPJYK-8 8 31.5 16
TPJYK-10 10 31.5 17
TPJYK-15 15 33 18
TPJYK-20 20 35 20
TPJYK-30 30 50 46
TPJYK-40 40 50 48
TPJYK-50 62
* NBR

TPJTK-6/8

® 10,0 15,0 20

M8XP1.25
10H

1oH CE] & o @

TPJTK-10/15/20
@ 30,0 40

e

M10XP1.5
14H

M6

TPJTK-30/40

e

M8 ©|

® 50

M10XP1.5
14H

20

@ 50

TPJTK-50

TPJYK-6/8

TPJYK-10/15/20

Mé 8/

TPJTK-30/40

Mé 8/
12 M6 depth 8
14H

[=]
Li;:”} &
w| ™ ]
o
S M8
@ 50

TPJYK-50

925~




O O
A B () ¢ 60, 80
TPJTK-60 60 62.5 144 ve 11/
TPJTK-80 80 63.5 190 B N
TPIYK=60 60 | 625 | 139 : L% {11 (Yo
TPJYK-80 80 63.5 185 ° HI0X21.25 %’: =
* NBR
oA QA
TPJTK-60/80 TPJYK-60/80
|
ESON®
6:0 6 8:0 8 10:¢ 10 N: S: U:
15:¢ 15 20:0 20 30:¢ 30 F: E: SE:
40:¢p 40 50:¢ 50 60:¢0 60
80:¢p 80 ¢ 6/8: ¢ 10 50:
¢ 60/80:
|
7.5 98 o1l 053
96 96 7.8 " @ 40
_ o4 @4 0 ¢ 4.6 9198
SRR = o i b [
£S FEQEE AciN< uF = gy
M 033 Tl s S L less I3 :
¢6 ¢8 ¢ 10
TPJG-6 TPJG-50
Q12 9 62 082
078 @45 068
W IXP1.25 12. :‘ M10XP1.25 12. :‘
] | ! o H &
[ ‘9A7 ‘ 945 061
915 @ 60 9 80
¢ 15.8
TPJG-15 TPJG-60 TPJG-80
0 O TPJ
*TPJ
M5
% _ (TPF )
(@) TPF
3T 7 2
S 9 TPJG 6 8 10 15 20
@) 3.3 5.3 6.8 9.7 13
TPJ10/15 (@) 35 5 6 8 20
M6
| n TPJG 30 40 50 60 80
£ ‘ @) 16 25 32.1 45 61
QT 15 761.5 9+ei (9) 15 25 30 40 60
16.5 @11
TPJ30/40
M8 A M6 A
= ] i L;ﬁu 1
1 H N f
1+ Y he
T 0, N R, N
M 17 @20 17 }‘* ¢ 20
TPJ50 (M8) TPJ50 (M6)

-26 -




Vacuum Pad

TPU
O
° ® 10 o 200
(9 120 )
[ )
[ )
TPu (Tke {69 (V)
T: Y:
10:¢ 10 15:0 15 20:¢ 20
25:¢ 25 30:¢ 30 35:¢ 35
40:¢ 40 50:¢ 50 60:¢ 60
80:¢ 80 100:¢ 100 120:¢ 120
150:¢ 150  200:¢ 200
TPUTKB-10/15
® 20,0 25,¢ 30,¢ 35
N: S: u: @5
F: % {E
< >RoHS © : M10XP1.5
rTPU (T) KB (N T
T
- R |
==
D JA
A B C D @ %
TPUTKB-10 10 56 5 20 QA
TPUTKB-15 15 57 6 20 TPUTKB-20/25/30/35
TPUTKB-20 20 70 9 66 @ 40,¢ 50
TPUTKB-25 25 70.5 9.5 66 05
TPUTKB-30 30 71 10 71 % P
TPUTKB-35 35 72 11 71 - MLAXPLS
TPUTKB-40 40 77 11 118 -
TPUTKB-50 50 78 12 121 S —
TPUTKB-60 60 93 16 352 <
TPUTKB-80 80 95 18 444 .
TPUTKB-100 | 100 95 18 568 4= -
[ ]
TPUYKB-10 10 36.5 5 22.5 20 he
TPUYKB-15 15 37.5 6 23.5 20 .
TPUYKB-20 20 49 9 33 67 oA
TPUYKB-25 25 495 9.5 335 67 TPUTKB-40/50
TPUYKB-30 30 50 10 34 73 @ 60,0 80,¢ 100
TPUYKB-35 35 51 11 35 73 —
TPUYKB-40 40 59 11 41 116 HOOLS
TPUYKB-50 50 60 12 42 117 @ wﬁ;$
TPUYKB-60 60 93 16 58 352 2
TPUYKB-80 80 95 18 60 444 o © o
TPUYKB-100 | 100 95 18 60 568 @ [ o
* NBR N “1—%
© /‘ N

TPUTKB-60/80/100

M4 6/
M4 depth 6

12H

TPUYKB-10/15

M6 8/
M6 depth 8

16

33

TPUYKB-20/25/30/35

M8XP1.25 10/

¢ 15  M8XP1.25 depth 10

18
5
3
I
12|13
38

19H

FJ
10
B

C

=)

QA

TPUYKB-40/50

M16XP1.5

21H
© :
Rc(PT)1/8

21H

T

TPUYKB-60/80/100

27 -




10:¢ 10 15:¢ 15 20:0 20
25025 30030 35035
TPUGB @ - @ ( + 20:040 50050  60-¢ 60
80:p 80  100:p 100  120:@ 120
150:0 150  200-¢ 200
N: S: U: F
O
TPUG

TPUG-25
9 32.2

L=
¢ 16
@ 40

TPUG-40

@ 20.2

-
i <

Y T 12

¢ 15 ¢ 20
TPUG-15 TPUG-20

® 23.2 @ 23.2

‘

E 9 LA

012 " k2

¢ 30 @ 35
TPUG-30 TPUG-35

L
S
=

TPUG-50

TPUGB
'l_‘(p > 1.8 M4axpo.7 ‘l_‘(p * 1.8 M4xpo.7
“ f ™ “| NJJ f ‘jL ™
=¥ I s
8 49— 12H 8 41—

’ 4 i BGEY b
L [
TPUGB-10 TPUGB-15

4p
Um’l 4467 2.3 7
g_.i i ©
f m‘
o 30°
@25
TPUGB-20 TPUGB-25

3 4 P »157 23 7 s 4 P 44‘67 a3 7

o sl - o = -

3 L \ 8 9 L | S

é N*; 3 “:" mL T 9
* 30°, f 30°

@ 30 9 35
TPUGB-30 TPUGB-35

T
T
@ 100
TPUG-100
P w o P 7w
3"\ e 4\ s
g7 | < g i 2
i [ gz < o (g %K =
b «%ﬁ' | 5 ‘
35° 35°
¢ 40 ¢ 50
TPUGB-40 TPUGB-50
o "% 8 r° Gq)39
O-ring ¢ 3.9 "_'”9 { ® 2% M12XP1.25
&8y TH* M‘12><P1.25 () £ o
19H ° © 3_1;3 T
~ 3-M4 = ~
8 5 3 S
= f t;}] ) iﬁ
g L ) a
w0 } .
' 35° JER)
9 60 980
TPUGB-60 TPUGB-80
o 9
O-ring | 3.9 M1oxP1.25
(8-7) ;
19H = °
& 3-M4 =
3| o [
o f )
& —
' 35°
@ 100
TPUGB-100

- 28 -




Vacuum Pad

TPC
° o5 9
3
[ )
O
e (DK (19 (&)
T: Y:
5:p5* T.07%* 10:0 10

15:¢ 15 20:¢ 20 30:¢ 30

|

40:040  60:0 60  90:¢ 90 Y 1L ea
TPCTK-5/7 TPCYK-5/7
N: S: © 10,0 15,0 20
*@ 5/7
M4 7/
< >R0HS M4 depth 7 ¢ 10
rrec (T) K {19 (5)
* R
TPCTK-10/15/20 TPCYK-10/15/20
O
A B D (9) ¢ 30,9 40,0 60
TPCTK-5 5 33.5 9.5 11 e
TPCTK-7 7 34 10 11 v I W &
TPCTK-10 9 56.2 22 a0\, - g et
TPCTK-15 15.2 | 64.2 22 ANk 5 ~
TPCTK-20 20 64.2 22 w - ® & | =
TPCTK-30 32 | 86.8 16 i e aif
TPCTK-40 42 95.3 55 we e o
TPCTK-60 62 | 1043 85 41\ 41\
TPCTK-90 88 144.8 300 > ST
TPCYK-5 5 32 16 L ea | L ea |
TPCYK-7 7 32.5 16
TPCYK-10 9 40.2 22 TPCTK-30/40/60 TPCYK-30/40/60
TPCYK-15 15.2 | 48.2 22 * TN-02(M8)
TPCYK-20 20 48.2 22 TN-03(M6)
TPCYK-30 32 70.8 46
TPCYK-40 42 79.3 55
TPCYK-60 62 88.3 85
TPCYK-90 88 144.8 300
* NBR

TPCTK-90 TPCYK-90

- 29 -



5:p5* 7.9 7* 10:¢ 10 N: S:
15:¢ 15 20:¢ 20 30:¢ 30 *@ 5/7
40:¢ 40 60:¢p 60 90:¢ 90
@ 5/7: @ 10 90:

TPCG-40
025
F
goﬁ L |
29 025
¢ 15.2 929 032
@ 62 @ 88
TPCG-15 TPCG-20 TPCG-60 TPCG-90

N

1.2 1
1.3 24

T o .
T @ i e IS S s R

« of
& 7 m/ s/ o508 | 3 4
2
TN-01 TN-02(M8) TN-03(Ms)
(TPC10/15/20 ) (TPC30/40/60 )
2.5 25
I N
ﬁ[ I i %
E St S -
M12XP1.25 11 N 6
35 |5
TN-04
(TPC90 )

-30 -



TPD

() @20 o100
( NBR )

o o o []

Vacuum Pad

m|
120Dk
T: Y:
M4 6/
010 M4 depth 6
20:020  30:930  40:¢ 40 -
50:¢ 50 60:¢ 60 70:¢ 70
80:¢ 80 100:¢ 100 .
< >RoHS
aren (7) &
QA
* R TPDTK-20 TPDYK-20
® 30,9 40,¢ 50
05
D 93
A A’ B C Y ‘ M6 8/
TPDTK-20 20 30 56.2 17 5 N o 912 M6 depth 8
TPDTK-30 | 30 43 | 69.2 | 20 9 ———
TPDTK-40 40 55 71.2 22 8 = g g —2 uH
TPDTK-50 50 65 71.2 22 8 e %
TPDTK-60 | 60 85 70 30 8 lEE 5 @
TPDTK-70 70 100 70 30 8 ‘ ] - ‘
TPDTK-80 80 110 70 30 8 o I R © S D
TPDTK-100 | 100 130 70 30 8 " A
TPDYK-20 20 30 40.2 17 5 oA oA
TPDYK-30 30 43 53.2 20 9 TPDTK-30/40/50 TPDYK-30/40/50
TPDYK-40 40 55 55.2 22 8 ® 60,¢ 70,¢ 80,¢ 100
TPDYK-50 50 65 55.2 22 8 ve 1y
TPDYK-60 60 85 70 30 8 MI16XP1.5 Rcl/8 M8 depth 11 17
TPDYK-70 70 100 70 30 8 20H '\ ]
TPDYK-80 | 80 | 110 | 70 30 8 ﬂ?@tﬁ g o -
TPDYK-100 | 100 130 70 30 8 \ i - g
| m Rcl1/8 - |
| [®] P O
-
TPDG— g oA T oA
QA QA
TPDTK-60/70/80/100 TPDYK-60/70/80/100
20:0 20 30: 30 40: 40
50:¢ 50 60:¢ 60 70:¢ 70
80:¢ 80 100:¢ 100
m|
@20 ® 30 © 40 ®70 © 80
930 43 955 © 100 © 110
TPDG-20 TPDG-30 TPDG-40 TPDG-70 TPDG-80
@ 50 @ 60 @ 100
¢ 65 985 ¢ 130
TPDG-50 TPDG-60 TPDG-100

-31-




Vacuum Pad

TPS
O
. 02 08
[ )
° 2
O
res-()(8) - ()
¢ 6(
[ EE)
J:2
M5XP0.8 M5XP08
F 2A:0 2 3.5A:0 3.5 BA@5 \
6A:0 6 8A:p 8
J 6:0 6 8:0 8 I
o i o B
: 3 W oy
TPS-F6A-M/F
N: S: u:
F: E: SE: ¢ 8( )
< >RoHS w w
rTes-(6) - (OMI()
M5XP0.8 M5XP0.8
* R
o Tl [T, ]]e
O 0 "T ~
¢ 2( N v NT ‘ T 2
: : o [0 al 36
T T
M3XP0.5 M3XP0.5 TPS-F8A-M/F
o
TO T ‘03 (p 6( )
4 < 4 <]
o L ¢ 12 ¢ 12
g e 8 e
TPS-F2A-M/F M5XP0.8 M5XPO 8
¢ 3.5( )
4 4 '-iL coI
IR IR . N
s 8 e
M3XP0.5 M3XP0.5 D o
™ | L"’.L N 02 N 02
To s ig o 6 ©6
L @< . W<
mT I L2 K TPS-J6-M/F
S j" ®35 oS j ¢35
¢ 8( )
TPS-F3.5A-M/F
os( ) w w
wi@ ”E@ M5XP0.8 M5XP0.8
M5XP0.8 M5XP0.8 ﬂ COI [
P
© < <
v 14 B 1
98 98
TPS-F5A-M/F TPS-J8-M/F

-32-




Vacuum Pad

TPS
|
° @ 10 @ 50
[ ]
° 2
|
s-(29 - (D(W(s)
d
TPS-M
10:¢ 10 15:0 15 20:¢ 20
25:¢ 25* 30:¢ 30 35:¢ 35*
40:¢ 40 50:¢ 50
=| {&)
. *
i M5XP0.8
: i ]
* 25 35 O E@
[Tol I A
o Q2
M F: 10
TPS-10-M
N: S: U: TPS-JM
F: E: SE:
= (@)
< >RoHS R1/S
@ - QOO e
< Y
T m
* R O
>
H
O %p gp
A [ B [ C [ H [ Y
TPS-10-M TPS-10-JM TPS-15 50-JM
TPS-15-M 15 22 8 2 1.9 TPS-F
TPS-20-M 20 24 10 3 2.3
TPS-25-M 25 28 14 3 3
TPS-30-M 30 26 12 3 2
TPS-35-M 35 28 14 3 3 72\
TPS-40-M 40 28 14 3 35 =| )
TPS-50-M 50 29 15 4 4
M5XP0.8
TPS-10-JM b ;
TPS-20-0M 20 27 13 2 [ 55 T =g
TPS-30-JM 30 32 18 3 8 =
TPS-40-IM 40 32 18 3 8 = wﬂ
TPS-50-JM 50 34 20 4 9 1
TPS-10-F TPS-10-F TPS-15 50-F
TPS-15-F 15 22 8 2 1.9 TPS-JF
TPS-20-F 20 24 10 3 2.3
TPS-25-F 25 28 14 3 3 1
TPS-30-F 30 26 12 3 2 3 ’ -
TPS-40-F 35 28 14 3 3 oo ’ Rpl/8 9/
TPS-40-F 40 28 14 3 3.5 [ Rp1/8 depth 9
TPS-50-F 50 29 15 4 4 .
‘ <
TPS-10-JF B )
TPS-20-JF 20 27 13 2 5.5 o
TPS-30-JF 30 32 18 3 8 5
TPS-40-JF 40 32 18 3 8 o H
TPS-50-JF 50 34 20 4 9 oA
TPS-10-JF TPS-15 50-JF

-33-



Vacuum Pad

TNA
|
° ©2 @200 ( )
(p 120
° ( @ 10 )
°
O
(D@ s 19 - (9)-09
|
F J:2
F: — TPF
C:3 D: J:2 — TPJ
C:3 — TPC
D: — TPD
T Y
( ) a
F
(¢ 120,¢ 150,¢ 200 ) F: J:2
2A:p 2 3.5A:0 3.5 5A:p5 6Ap6
8A:¢p 8 10A:p 10 15:¢ 15 20:0 20 (@ mm) (mm) (@ mm) (mm)
25:¢p 25 30:¢ 30 35:¢ 35 40:¢ 40 2A
50:¢ 50 60:¢ 60 80:¢ 80 95:¢ 95 3.5A — 3 6 — 3
120:¢ 120 150:¢ 150 200:¢ 200 5A — —
6A — 6 8 — 6
J 8A
6:¢ 6 8:¢p 8 10:¢ 10 15:¢ 15
20:¢ 20 30:¢ 30 40:¢ 40 50:¢ 50 10A — 3 10 — 3
60:¢ 60 80:¢ 80 —T1— 10 —T1— 10
15 —— 15 15 —— 15
C
5:¢9 5 707 10:¢ 10 15:¢ 15 20
20:¢ 20 30:¢ 30 40:¢ 40 60:¢ 60 25 — 6 20 — 6
90:¢ 90 30— 15 30— 15
35 — 30 40 — 30
D 40 50
20:¢ 20 30:¢ 30 40:¢ 40 50:¢ 50 50
60:¢ 60 80:¢ 80 100:¢ 100
60 10 60 10
s—E 5 =t
( ) 95 50 80 50
3:3mm 6:6mm 10:10mm 15:15mm
30:30mm 50:50mm
C:3 D:
*
N S: u: (@ mm) (mm) (@ mm) (mm)
F E: SE 5 — 3 20 6
* C — 30 { 15
®57 7 — 6 40 30
* D 50
* 10 — 3
: T: O: 15 —r— 10 60 10
* ¢ 60 (c ¢ 90 20 —— 15 70 { 30
80 50
30 — 6 100
< >RoHS 40— 15
rmnae(H(T) s {19 - @ {©) R
— 10
* R 90 —1— 30
— 50

34 -



O
F( 2/3.5/5/6/8),)(¢ 6/8),C(¢ 5/7)

]
"L 1dal Joa | [ ea

TPF / TPJ / TPC /

TPF series TPJ series TPC series
(9) :0.5
125

F(@ 10/15),J(¢ 10/15),
C(p 10/15/20)

rg_‘

-
et
Tl Te

=
)
T
| ——

C
sl
N

T r
of Leal T of [eal loal
TPF / TR / TPC /
TPF series TPF series TPC series
(9) 115
1 4.5

O (mm
A C D E

TNAPFT/YS-2A-3 2 4 0.5 39 3 6
TNAPFT/YS-2A-6 2 4 0.5 42 6 6
TNAPFT/YS-3.5A-3 | 3.5 | 4 0.5 39 3 6
TNAPFT/YS-3.5A-6 | 3.5 | 4 0.5 42 6 6
TNAPFT/YS-5A-3 5 | 65| 08 | 415 3 7
TNAPFT/YS-5A-6 5 | 65| 08 | 445 6 7
TNAPFT/YS-6A-3 6 | 65| 08 | 415 3 7
TNAPFT/YS-6A-6 6 | 65| 08 | 445 6 7
TNAPFT/YS-8A-3 8 7 1.2 42 3 7
TNAPFT/YS-8A-6 8 7 1.2 45 6 7
TNAPJT/YS-6-3 6 9 4.2 44 3 7
TNAPJT/YS-6-6 6 9 4.2 47 6 7
TNAPJT/YS-8-3 8 9 4 44 3 7
TNAPJT/YS-8-6 8 9 4 47 6 7
TNAPCT/YS-5-3 5 195 44.5 3 7
TNAPCT/YS-5-6 5 195 47.5 6 7
TNAPCT/YS-7-3 7 10 45 3 7
TNAPCT/YS-7-6 7 10 48 6 7
*1 TPFG-2A,3.5A
*2 TPFG-5A,6A,8A, TPJG-6,8 TPCG-5,7 TPFG-2A,3.5A

(mm

A C D E F G H VA

TNAPFT/YS-10A-3 10 | 75| 1.5 | 55.5 3 23 17 | 13 18
TNAPFT/YS-10A-10 | 10 | 7.5 | 1.5 | 62.5 10 23 17 | 13 18.5
TNAPFT/YS-10A-15 | 10 | 7.5 | 1.5 75 15 30.5 | 245 | 13 21
TNAPFT/YS-15-3 15 8 1.9 58 3 23 17 | 15 | M5X0.8 30.5
TNAPFT/YS-15-10 15 8 1.9 65 10 23 17 | 15 | M5X0.8 31
TNAPFT/YS-15-15 15 8 1.9 | 77.5 15 30.5 | 24.5 | 15 | M5X0.8 33.5
TNAPJT/YS-10-3 10 | 9.5 3 59.5 3 23 17 | 15 | M5X0.8 30.5
TNAPJT/YS-10-10 10 | 9.5 3 66.5 10 23 17 | 15 | M5X0.8 31
TNAPJT/YS-10-15 10 | 9.5 3 79 15 30.5 | 24.5 | 15 | M5X0.8 33.5
TNAPJT/YS-15-3 15 | 11 | 3.3 61 3 23 17 | 15 | M5X0.8 31.5
TNAPJT/YS-15-10 15 | 11 | 3.3 68 10 23 17 | 15 | M5X0.8 32
TNAPJT/YS-15-15 15 | 11 | 3.3 | 80.5 15 30.5 | 24.5 | 15 | M5X0.8 34.5
TNAPCT/YS-10-3 10 | 18 68 3 23 17 | 15 | M5X0.8 22
TNAPCT/YS-10-10 10 | 18 75 10 23 17 | 15 | M5X0.8 22.5
TNAPCT/YS-10-15 10 | 18 87.5 15 30.5 | 24.5 | 15 | M5X0.8 25
TNAPCT/YS-15-3 15 | 26 76 3 23 17 | 15 | M5X0.8 23
TNAPCT/YS-15-10 15 | 26 83 10 23 17 | 15 | M5X0.8 23.5
TNAPCT/YS-15-15 15 | 26 95.5 15 30.5 | 24.5 | 15 | M5X0.8 26
TNAPCT/YS-20-3 20 | 26 76 3 23 17 | 15 | M5X0.8 23.5
TNAPCT/YS-20-10 20 | 26 83 10 23 17 | 15 | M5X0.8 24
TNAPCT/YS-20-15 20 | 26 95.5 15 30.5 | 24.5 | 15 | M5X0.8 26.5

TPF (¢ 10

-35 -




|

F(@ 20/25/30/35/40/50),

(¢ 20/30/40/50),C(¢ 30/40/60),

D(¢ 20/30/40/50)

E

z

©

115
4.5

i ﬁ]ﬁ S R ]
o sy Sl
TS VS N NV (R 1
TPF /TPF series TPJ /TPJ series TPC /TPC series TPD /TPD series
O (mm
A A’ C D E F G H z

TNAPFT/YS-20-6 20 10 2.3 75 6 36 28 18 M5X0.8 65.5
TNAPFT/YS-20-15 20 10 2.3 84 15 36 28 18 M5X0.8 70.5
TNAPFT/YS-20-30 20 10 2.3 121 30 58 50 18 M5X0.8 95.5
TNAPFT/YS-25-6 25 14 3 82 6 36 28 21 M6X1 66
TNAPFT/YS-25-15 25 14 3 91 15 36 28 21 M6X1 71
TNAPFT/YS-25-30 25 14 3 128 30 58 50 21 M6X1 96
TNAPFT/YS-30-6 30 12 2 80 6 36 28 21 M6X1 67
TNAPFT/YS-30-15 30 12 2 89 15 36 28 21 M6X1 72
TNAPFT/YS-30-30 30 12 2 126 30 58 50 21 M6X1 97
TNAPFT/YS-35-6 35 14 3 82 6 36 28 21 M6X1 69.5
TNAPFT/YS-35-15 35 14 3 91 15 36 28 21 M6X1 74.5
TNAPFT/YS-35-30 35 14 3 128 30 58 50 21 M6X1 99.5
TNAPFT/YS-40-6 40 14 3.5 82 6 36 28 21 M6X1 71
TNAPFT/YS-40-15 40 14 3.5 91 15 36 28 21 M6X1 76
TNAPFT/YS-40-30 40 14 3.5 128 30 58 50 21 M6X1 101
TNAPFT/YS-50-6 50 15 4 83 6 36 28 21 M6X1 80
TNAPFT/YS-50-15 50 15 4 92 15 36 28 21 M6X1 85
TNAPFT/YS-50-30 50 15 4 129 30 58 50 21 M6X1 110
TNAPJT/YS-20-6 20 13 5.5 78 6 36 28 18 M5X0.8 66
TNAPJT/YS-20-15 20 13 5.5 87 15 36 28 18 M5X0.8 71
TNAPJT/YS-20-30 20 13 5.5 124 30 58 50 18 M5X0.8 96
TNAPJT/YS-30-6 30 18 7 86 6 36 28 21 M6X1 69
TNAPJT/YS-30-15 30 18 7 95 15 36 28 21 M6X1 74
TNAPJT/YS-30-30 30 18 7 132 30 58 50 21 M6X1 99
TNAPJT/YS-40-6 40 18 7.2 86 6 36 28 21 M6X1 73.5
TNAPJT/YS-40-15 40 18 7.2 95 15 36 28 21 M6X1 78.5
TNAPJT/YS-40-30 40 18 7.2 132 30 58 50 21 M6X1 103.5
TNAPJT/YS-50-6 50 20 9 88 6 36 28 21 M6X1 89
TNAPJT/YS-50-15 50 20 9 97 15 36 28 21 M6X1 94
TNAPJT/YS-50-30 50 20 9 134 30 58 50 21 M6X1 119
TNAPCT/YS-30-6 30 38.5 106.5 6 36 28 21 M6X1 80
TNAPCT/YS-30-15 30 38.5 1155 15 36 28 21 M6X1 85
TNAPCT/YS-30-30 30 38.5 152.5| 30 58 50 21 M6X1 110
TNAPCT/YS-40-6 40 47 115 6 36 28 21 M6X1 91
TNAPCT/YS-40-15 40 47 124 15 36 28 21 M6X1 96
TNAPCT/YS-40-30 40 47 161 30 58 50 21 M6X1 121
TNAPCT/YS-60-6 60 56 124 6 36 28 21 M6X1 126
TNAPCT/YS-60-15 60 56 133 15 36 28 21 M6X1 131
TNAPCT/YS-60-30 60 56 170 30 58 50 21 M6X1 156
TNAPDT/YS-20-6 20 30 18 5 83 6 36 28 18 M5X0.8 82.5
TNAPDT/YS-20-15 20 30 18 5 92 15 36 28 18 M5X0.8 87.5
TNAPDT/YS-20-30 20 30 18 5 129 30 58 50 18 M5X0.8 112.5
TNAPDT/YS-30-6 30 43 21 9 89 6 36 28 21 M6X1 89
TNAPDT/YS-30-15 30 43 21 9 98 15 36 28 21 M6X1 94
TNAPDT/YS-30-30 30 43 21 9 135 30 58 50 21 M6X1 119
TNAPDT/YS-40-6 40 55 23 8 91 6 36 28 21 M6X1 116.5
TNAPDT/YS-40-15 40 55 23 8 100 15 36 28 21 M6X1 121.5
TNAPDT/YS-40-30 40 55 23 8 137 30 58 50 21 M6X1 146.5
TNAPDT/YS-50-6 50 65 23 8 91 6 36 28 21 M6X1 140
TNAPDT/YS-50-15 50 65 23 8 100 15 36 28 21 M6X1 145
TNAPDT/YS-50-30 50 65 23 8 137 30 58 50 21 M6X1 170




|

F(@ 60/80/95),J(¢ 60/80),
C(e 90),D(¢ 60/70/80/100)

z

/TPF series N{Eiﬂ

T

[
Rc1/8
M22X1.5 111 ,J
o Y]]
o N ﬂﬁ 8
I
2H | H wl )
Rc1/8
Z T
77; o
o _liLes
oA
5 z
= [ —
S o or
L ea | L ea |

/TP] series

[
[§)
I 9A
QA
TPC /TPC series TPD /TPD series
O (mm
A A’ C D E H VA
TNAPFT/YS-60-10 60 18.5 5 125.5 20 30 M10X1.25 282.5
TNAPFT/YS-60-30 60 18.5 5 155.5 50 30 M10X1.25 316.5
TNAPFT/YS-60-50 60 18.5 5 180.5 75 30 M10X1.25 343.5
TNAPFT/YS-80-10 80 20.5 6 127.5 20 30 M10X1.25 310.5
TNAPFT/YS-80-30 80 20.5 6 157.5 50 30 M10X1.25 344.5
TNAPFT/YS-80-50 80 20.5 6 182.5 75 30 M10X1.25 371.5
TNAPFT/YS-95-10 95 21 6 128 20 30 M10X1.25 350.5
TNAPFT/YS-95-30 95 21 6 158 50 30 M10X1.25 384
TNAPFT/YS-95-50 95 21 6 182 75 30 M10X1.25 411.5
TNAPJT/YS-60-10 60 22.5 8 129.5 20 30 M10X1.25 294
TNAPJT/YS-60-30 60 22.5 8 159.5 50 30 M10X1.25 328
TNAPJT/YS-60-50 60 22.5 8 184.5 75 30 M10X1.25 355
TNAPJT/YS-80-10 80 23.5 9.5 |130.5 20 30 M10X1.25 338
TNAPJT/YS-80-30 80 23.5 9.5 |160.5 50 30 M10X1.25 372
TNAPJT/YS-80-50 80 23.5 9.5 |185.5 75 30 M10X1.25 399
TNAPCT/YS-90-10 90 90 207 20 40 M12X1.25 472
TNAPCT/YS-90-30 90 90 237 50 40 M12X1.25 506
TNAPCT/YS-90-50 90 90 262 75 40 M12X1.25 533
TNAPDT/YS-60-10 60 85 30 8 137 20 30 M10X1.25 436
TNAPDT/YS-60-30 60 85 30 8 167 50 30 M10X1.25 470
TNAPDT/YS-60-50 60 85 30 8 192 75 30 M10X1.25 497
TNAPDT/YS-70-10 70 100 30 8 137 20 30 M10X1.25 510
TNAPDT/YS-70-30 70 100 30 8 167 50 30 M10X1.25 544
TNAPDT/YS-70-50 70 100 30 8 192 75 30 M10X1.25 571
TNAPDT/YS-80-10 80 110 30 8 137 20 30 M10X1.25 560.5
TNAPDT/YS-80-30 80 110 30 8 167 50 30 M10X1.25 594.5
TNAPDT/YS-80-50 80 110 30 8 192 75 30 M10X1.25 621.5
TNAPDT/YS-100-10 100 130 30 8 137 20 30 M10X1.25 681
TNAPDT/YS-100-30 100 130 30 8 167 50 30 M10X1.25 715
TNAPDT/YS-100-50 100 130 30 8 192 75 30 M10X1.25 742

-37 -




Vacuum Pad

TNAPU
|
° ® 10 o 200
(p 120 )
°
°
°
O
ey (D s8-8 -@ (3 -©
O
TPU
T: Y: u: — TPU
10:¢ 10 15:¢ 15 20:¢ 20
25:¢p 25 30:¢ 30 35:¢ 35 40:¢ 40 O
50:¢ 50 60:¢ 60 80:¢ 80 100:¢ 100
120:9 120 150:¢ 150 200:¢ 200 (@ mm) (mm)
(¢ 120,¢ 150,¢ 200 )
10 3
—+
( ) 15 15
3:3mm 6:6mm 10:10mm 15:15mm
30:30mm 50:50mm 20
25 6
30 { 15
N S u: 35 30
F 40
50
*
: T: O: 60 10
* ¢ 60 80 { 30
100 50
< >RoHS
rmvaru (D) s (19 -9 {9 -
* R
O O (mm
¢ 10/15 A C D E F G (9)
TNAPUT/YSB-10-3 1051 67.5 3 23 17 25
TNAPUT/YSB-10-10 1051 74.5 10 23 17 255
TNAPUT/YSB-10-15 1051 87 15 30.5 245 28
TNAPUT/YSB-15-3 15| 6 |1.4| 685 3 23 17 25
TNAPUT/YSB-15-10 15| 6 |14] 755 10 23 17 255
TNAPUT/YSB-15-15 15 6 |14 88 15 30.5 245 28

(9) 115

- 38 -



|

¢ 20/25/30/35

¢ 60/80/100

Rc1/8
M22X1.5

30H

10

50

20

19H

40

22

O (mm
A Cc D E F G (9)
TNAPUT/YSB-20-6 20| 9 2 90 6 36 28 88.5
TNAPUT/YSB-20-15 20| 9 2 99 15 36 28 93.5
TNAPUT/YSB-20-30 20| 9 2 136 30 58 50 118.5
TNAPUT/YSB-25-6 25 | 95| 25 | 905 6 36 28 88.5
TNAPUT/YSB-25-15 25 | 95| 25 | 995 15 36 28 93.5
TNAPUT/YSB-25-30 25 | 95| 25 |136.5| 30 58 50 118.5
TNAPUT/YSB-30-6 30 | 10 2 91 6 36 28 93.5
TNAPUT/YSB-30-15 30 | 10 2 100 15 36 28 98.5
TNAPUT/YSB-30-30 30 | 10 2 137 30 58 50 123.5
TNAPUT/YSB-35-6 35 | 11 3 92 6 36 28 94
TNAPUT/YSB-35-15 35 | 11 3 101 15 36 28 99
TNAPUT/YSB-35-30 35 | 11 3 138 30 58 50 124
(9) 115
1 4.5
(mm
A C D E F G (9)
TNAPUT/YSB-40-6 40 | 11 3 98 6 36 28 123
TNAPUT/YSB-40-15 40 | 11 3 107 15 36 28 128
TNAPUT/YSB-40-30 40 | 11 3 144 30 58 50 153
TNAPUT/YSB-50-6 50 | 12 4 99 6 36 28 124
TNAPUT/YSB-50-15 50 | 12 4 108 15 36 28 129
TNAPUT/YSB-50-30 50 | 12 4 145 30 58 50 154
(9) 115
1 4.5
(mm
A Cc D E (9)
TNAPUT/YSB-60-10 60 | 16 5 155 20 487
TNAPUT/YSB-60-30 60 | 16 5 185 50 521
TNAPUT/YSB-60-50 60 | 16 5 210 75 548
TNAPUT/YSB-80-10 80 | 18 6 157 20 559
TNAPUT/YSB-80-30 80 | 18 6 187 50 593
TNAPUT/YSB-80-50 80 | 18 6 212 75 620
TNAPUT/YSB-100-10 100 | 18 6 157 20 695
TNAPUT/YSB-100-30 100 | 18 6 187 50 729
TNAPUT/YSB-100-50 100 | 18 6 212 75 756

-39 -




Vacuum Pad

O
° ® 40 @ 100
° 3
[ ]
. ( )
° NBR 45° ( 55°
O
B—ECO—@ _ H45 o 15014001
o ® 60
40:¢9 40 50:¢ 50 60:¢ 60
75:0 75 100:¢ 100
O
*B-ECO-40 50
B'ECO'@ H *B-ECO-60 75 100
- O B-ECO
40:¢ 40 50:¢ 50 60:¢ 60 -70KPa
75:0 75 100:¢ 100 B-ECO
¢ 40 — — B-ECO 40 7Kg
O ¢ 50 ECO 50 | 10.6Kg | B-ECO 50 11.6Kg
¢ 60 ECO 60 | 145Kg | B-ECO 60 15Kg
B‘ECO“T © 75 ECO 75 |20Kg B-ECO 75 20Kg
® 100 | ECO 100 |20Kg B-ECO 100 | 20Kg
40:¢9 40 50:¢ 50 60:¢ 60 B-ECO
75:¢ 75 100:¢ 100 @ 40 — — B-ECO 40 | 5 5.5Kg
¢ 50 ECO 50 |45 5Kg| B-ECO 50 | 9.5 10Kg
M10:M10 M12:M12 M16:M16 @ 60 ECO 60 | 3 5Kg | B-ECO 60 6 10Kg
¢ 75 ECO 75 | 3 7Kg | B-ECO 75 9 15Kg
100 | ECO 100 |10 14Kg] B-ECO 100 | 17 20Kg
O
¢ 40/50 ¢ 60/75/100
| Al B C D 7 A B C D
o M B-ECO-40 M10 | 40| 365 | 27 | 95 | o B-ECO-60M10 | ¢ 60 | 335 | 33.2 | 03
| |B-ECO-40 m12|p 40| 40 | 27 | 13 [ ] . |B-ECO-60M12 | ¢ 60 | 47 | 33.2 | 13.8
o fﬁ B-ECO-40 M16|@ 40| 34 27 7 ° B-ECO-60M16 | @ 60 | 41 | 33.2| 7.8
B-ECO-50 M10|@ 50| 36.5 | 27 | 9.5 - B-ECO-75M10 | ¢ 75 | 345 | 342 | 03
LA | B-ECO-50 M12|@ 50| 40 | 27 | 13 L BEcomsmp ©75 | 48 | 342 138
B-ECO-50 M16 | 50| 34 27 7 B-ECO-75 M16 ® 75 42 34.2 7.8
B-ECO-100 M10| @ 100 | 39.3 | 39 | 0.3
B-ECO-100 M12| ¢ 100 | 52.8 | 39 | 1338
B-ECO-100 M16| ¢ 100 | 46.8 | 39 | 7.8
165 2 9195 22¢
F@ﬁ: ImE |
0’30 /P Y 1\
9 36 9 46
T Al B C T A B C
| L K@ B-ECO-40 ¢ 40| 25 7 | ) 7:7\‘2 B-ECO-60 960 | 31 | 12
© 4 B-ECO-50 @50 25 9 © - > B-ECO-75 ©75 | 32 | 13.4
P Loz T v B-ECO-100 | ¢ 100 | 36.8 | 16.8
A A
A[A] B C D ! Al A B C D
0%& @ M10XP15 | 8 | @4 | 225 | 115 | 185 gﬁ ‘ﬂ——ﬂ‘ ] MIOXP15 | 8 | @4 | 18 | 115 | 125
M12XP1.75 8 |p 6.5 26 | 15 | 22 e M12XP1.75 8 | 65| 31.5 | 15 | 26
@ M16XP15 | 10 |@ 10| 20 | 10 | 16 L= M16XP1.5 | 10 | @ 10 | 255 | 9 20
. )
> >,
A A A

- 40 -




	22～24TPF
	1/3
	2/3
	3/3

	25,26TPJ
	1/2
	2/2

	27,28TPU
	1/2
	2/2

	29,30TPC
	1/2
	2/2

	31TPD
	32TPS小径
	33TPS
	34TNA
	35TNA2
	36TNA3
	37TNA4
	38TNAPU
	39TNAPU2
	40B-ECO

